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ERRATA LIST

p. 10 Change Equation 1.48 to read:
|C| = |A||B]sin#, (1.48)

p- 16
(i) Exercise 2. first equation, change c, j to 7, j:

M;; =ij* for i,j=1,2,3,

(ii) Exercise 4, first line, change "row matrix" to "column matrix".

(iii) Exercise 4, first equation, change equation to read:
(D]} = v1'(D]
p. 49 Change Equation 3.14 to read:
T= (T &)& + (T -&)é + (T-&y)éy. (3.14)
p- 64 Exercise 20, change equation to read:

B = B,q..

p- 65 Exercise 20. change equation to read:
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p- 75 Change Equation 4.45 to read:

é; = aijéj. (445)
p. 133 Exercise 25, first line, change p.(z,y,y) to p.(x,y, z).

p- 152 In all equations on the page, change ¢, to c,, i.e.,

flz) = Z cn( — o) =co+e1(x —To) + oz — o) 4. (6.96)
n=0
1d
n = ——*M (6.97)
n! dr™ | _,
lim |l = @) |y (6.98)
n—oo C'n~l($_$o)n !
+oc
f@)= ) cale—zo)" (6.99)
C—2 C—1 2
=+ + +eot ez —zo)+calx—a0)" + -

T —z.)?  (z— o)
p- 162 Paragraph below Equation 6.135,
(i) third line, change C; to C; and C to C.

(ii) seventh line, change Cs to C}.
p. 215 Exercise 49. (b), changey = 1/2tou = 1/2.

p. 216 Exercise 55, change the sentences beginning in the second line of the para-
graph to the end of the paragraph to read:
Integrate to obtain z = z(w).

p- 241 Change Equation 7.90 to read:

2N4n,—1

fr= ) cpent (7.90)

n=n,

P- 242 Change the first line of Equation 7.92 to read:

N-1

— W tk
fk”_ E [

n=—N
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p- 300 Exercise 21:

(1) Change the last sentence of the first paragraph to read:
“Show that the conditions for closure with zero contribution are different for a
real, definite integral than they are for a Fourier inversion.”

(i) Change the first equation to read:

w?

w3 +1

Flw) =
(i11) Change the equation under (b) to read:
f(t) = / dx et F(w)

p- 316 Figure 9.14, change the label on the abscissa from “imag” to “real”.
p- 318 Figure 9.16, change the label on the abscissa from “imag” to “real”.
p. 354 Change the part of the sentence below Equation 10.104 to read:

“...where the ¢, are unknown coefficents, and s is a fixed number, not necessarily
an integer or pure real. Often, however, it is a positive or negative integer.”

p- 379 Figure 10.16, change —K x(t) to read -K,, x(t).

p- 383 Title of Figure 10.21, change “Principal” to “Principle”.

p- 408 Exercise 22 (a), last line, change z = x, to y = y,.

p- 421 Exercise 53, first line below the equation, change a(x), b(x) to p(z), g(x).
p. 422 Exercise 54 (d), first line, change d(t) to d(x).

p.- 428 Change Equation 11.20 to read:

( Am718+1\/c_n;e+y\/5m_ye+zm\
+Bm”e*$\/€ﬁe+y\/cfm—ye+zm
4"C’Ymne+x‘/a;6—y\/c_m_ye"'z\/jz"r:jC_m;
+Dm,,le-x\/me-y\/me+zm &
Z Z S +Emn€+x\/c_n;€+yme_zm .
+ij,n€_$m6+y\/me—zm
+Gmne+x\/m6_y\/me‘z\/m
C*"Hmn(i_xme_yme‘z\/m

(11.20)
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p. 448 Split the last sentence of the paragraph Orthogonality Relations into two

sentences:
. .eigenfunction problem.

A Hermitian operator can then be identified and the orthogonality properties of the
eigenfunctions determined.

p. 449 Change Equation 11.111 to read:

=0. (11.111)

dJu(a’ump/To]
Q

[JV (aunp/To)p dp

p. 453 Change Equation 11.136 to read:
w0 =200 (e (oo
p. 462 Change Equation 11.176 to read:
Ag(x) =+ apsr {a" T 22 p g Y (11.176)
p. 463
(i) Line above Equation 11.180, change By(z) to By(z).
(ii) Line above Equation 11.181, change Aq(z) to Ag(z).
p- 464 Third paragraph, change “six” to “five”.
p. 473 Figure 11.21, last line of equation, change +V to -V,

p. 474 Equation 11.237: replace closing brace by opening brace:

®(r,0,4) =) Z { e 1{4m(0 $). (11.237)

=0m=—¥¢

p- 482 Exercise 16(a), change Equation to read:

)= [ " dEF©)alp | €).

p- 484 Exercise 24, change the second and third line below the first equation to
read:
«“...the differential equation for radially dependent component becomes”
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p. 489 Exercise 34: insert O on the right-hand side of Laplace’s equation in two
dimensions:

V3 (q1, q2) = - [ahza 0 by 0

o | R 2 (g1, g2) = O,
hihy | g1 hi Oq1  Oga by 3(12] (01,42)

p. 507 Exercise 7, change equation to read:
x
wiz)=a - [ dt(t - 2)u(e)
0

p- 508 Exercise 12.i., change equation to read:
1
Y(r) = A/ dt (x — t)%p(t).
-1

P. 537 First line of the paragraph above Equation 13.45, change sentence to read:
“We should also look carefully at the little circular part...”

p. 542
(i) Second line from top of page, change term to read dz = e**"dr.

(i1) Change Equation 13.57 to read:

j{ :27(:/+/:21. (13.57)
C, 1 3

p- 547 Change Equation 13.72 to read:
du v Ow  Ow

51; + Z% = 79; = —82 =0 at the saddle points. (13.72)
p. 581 Change Equation 14.100 to read:
0
=t — 14.100
L Er ( )

p- 593 Exercise 3, change equation to read:
M = Mi;g'8’ = MYgg;.

p. 611 In the first line of the paragraph above Table 15.16, change “are shown” to
“is shown”.

p- 614 1In the fourth line from the top of the second paragraph, change “dimension”
to “dimensions”.
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p. 619 Table 15.25, row CF], column g4, change “—1” to “—1”.

pP. 623 Change the sentence beginning in the 2nd line of the 2nd paragraph to read:

“The net result is that there is one Dg” representation, no Dng representation, and

one D:[),3] representation in the block diagonalization.”

p- 625 Equation 15.62, change element (1,3) and (3,1) from “1” to “—1".



